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  Written Exercise 6:  
Translate the following Greek text into correct English (51 answers):

toi'" neanijai" oj Pau'lo" ei\pen ejk tw'n profhtw'n tou;" lovgou" peri; tou' Cristou'. au&th hj ajggeliva neva h\n pro;" aujtouv", kai; ou&tw" ou|toi oiJ a[nqrwpoi ajntevballon aujthnv. au[rion oJ dou'lo" ou|to" tou' kuri;ou pavlin proevqhke aujtoi'" to; eujaggevlion. kai; ejphvkousan tou' ajpostovlou ejpivsteusan d j aujtoi; ejn tw/' kurivw/, oJ ajpovstolo" ga;r ghnsivw" hjlhvqeue ajpo; tou' qeou', ou|to" te; ajlhqino;" a[ggelo" h\n kai; hJ didach; aujtou' oujk kenh; h\n. 
Parse the following words according to the appropriate model (64 answers):
toi'" neanijai"(7 answers): 1 - Dat (_________) - M - P - neaniva", oJ - _______________
oj Pau'lo"(7 answers): Proper Name - Nom (Subj) - M - S - Pau'lo", oJ- ____________
ei\pen(8 answers): 2 Aor (__________) - Act - Ind - 3 - S - levgw- ______________
ejk tw'n profhtw'n(8 answers): 1 - Abla (_______) - M - P - profhvth", oJ- ________________________
tou;" lovgou"(7 answers): 2 - Acc (Dir Obj) - M - P - lovgo", oJ- ____________
peri; tou' Cristou'(7 answers): 2 - _______(Ref) - M - S - Cristo;", oJ- ___________
au&th(10 answers): ________ Pron - Nom - F - S - ou|to", au&th, tou'to- ___________
ajggeliva(7 answers): 1 - Nom (________) - F - S - ajggeliva, hJ - ______________
neva(answers): Adj (________) - Nom - F - S - nevo", -a, -on -_________
h\n(7 answers): Imperf (Desc) - Ind - 3 - S - eijmi- ___________________
pro;" aujtouv"(10 answers): Pers Pron - Acc (Ref) - M - P - aujtov", -hv, -ov - ______________
kai(1 answer): Coordinate conjunction connecting two independent clauses - _________
ou&tw" (1 answer): Adverb of manner - thus, so
ou|toi(10 answers): Dem Pron - Nom - M - P -  ou|to", au&th, tou'to - ____________
oiJ a[nqrwpoi(7 answers): 2 - Nom (_________) - M - P - a[nqrwpo", oJ - __________
ajntevballon(8 answers): _______(Incep) - Act - Ind - 3 - P - ajntibavllw - ________________________
aujthvn(10 answers): _______ Pron - Acc (Dir Obj) - F - S - aujtov", -hv, -ov -________
au[rion(1 answer): temporal adverb - on the next day
oJ dou'lo"(7 answers): 2 - Nom (_______) - M - S - dou'lo", oJ- this ____________
ou|to"(10 answers): _______ Pron - Nom - M - S - ou|to", au&th, tou'to - __________
tou' kuri;ou(7 answers): 2 - Gen (Poss) - M - S - kuvrio", oJ - ___________________
pavlin(1 answer): adverb of sequence - again
proevqhke(8 answers): 1 Aor (Const) - Act - Ind - 3 - S - protivqhmi - __________________ them 
aujtoi'"(10 answers): Pers Pron - Dat (Indir Obj) - M - P - aujtov", -hv, -ov - _________________
to; eujaggevlion(7 answers): 2 - Acc (Dir Obj) - N - S -  eujaggevlion, tov - ________________
kai;(1 answer): coordinate conjunction connecting two independent clauses - and
ejphvkousan(8 answers): ________(Const) - Act - Ind - 3 - P -ejpakouvw - ____________________ 

tou' ajpostovlou(7 answers): 2 - _______(Dir Obj) - M - S - ajpovstolo", oJ - _____________
ejpivsteusan(8 answers): 1 Aor (Const) - Act - Ind - 3 - P -____________- they believed 

d  j(1 answer): postpositive coordinate connecting two independent clauses - and
aujtoi(10 answers): Pers Pron - Nom (Subj) - M - P - aujtov", -hv, -ov - ___________
ejn tw/' kurivw(7 answers): 2 - _________(Sphere) - M - S - kuvrio", oJ - ___________________
oJ ajpovstolo"(7 answers): 2 - Nom (Subj) - M - S - ajpovstolo", oJ - ______________
ga;r(2 answers): postpositive coordinate conjunction introducing causal independent clause - _______
ghnsivw"(1 answer): adverb of manner - sincerely, genuinely 
hjlhvqeue(8 answers): Imperf (Desc) - Act - Ind - 3 - S - ajlhqeuvw - _____________________________
ajpo; tou' qeou'(7 answers): 2 - Abl (Sep/Source) - M - S - qeov", oJ - ________________________
ou|to"(10 answers): Dem Pron - Nom (Subj) - M - S - ou|to", au&th, tou'to - _________________
te;(1answer): postpositive coordinate conjunction connecting two independent clauses - ___________
ajlhqino;"(9 answers): Adj (Attrib) - Nom - M - S - ajlhqinov", -hv, -ovn - __________
a[ggelo"(7 answers): 2  - Nom (________) - M - S - a[ggelo", oJ - ___________________
h\n(7 answers): Imperf (________) - Ind - 3 - S -eijmiv - __________
kai;(1 answer): coordinate conjunction connecting two independent clauses - and
hJ didach(7 answers): _____- Nom (_______) - F - S -__________,____ - _______________
aujtou(answers): _______  _________ - Gen (Poss) - M - S - aujtov", -hv, -ov - ___________
oujk(1 answer): negative adverb - not
kenh(answers): Adj (________) - Nom - F - S - kenov", -hv, -ovn - ____________________
h\n(7 answers): Imperf (_________) - Ind - 3 - S -eijmiv - __________________

Conjugate the following verbs according to the appropriate model (24 answers):
1 Aorist  - Active - Indicative Forms of ejpakouvw(6 answers):

Person:
Singular
Plural










2 Aorist  - Active - Indicative Forms of levgw(6 answers):

Person:
Singular
Plural










Imperf  - Indicative Forms of eijmi(6 answers):

Person:
Singular
Plural









1 Aorist - Active - Indicative Forms of protivqhmi(6 answers):

Person:
Singular
Plural








Decline the following nouns and noun derivatives according to the appropriate model:
Demonstrative Pronoun ou|o", au&th, tou'to(18 answers):
Case:
Masculine

Feminine

Neuter
Singular:
Nom


Gen/Abla


Dat/Ins/Loc


Acc


Plural:

Nom


Gen/Abla


Dat/Ins/Loc


Acc


Demonstrative Pronoun ejkei'no", -h, -o (18 answers):

Case:
Masculine

Feminine

Neuter
Singular:
Nom


Gen/Abla


Dat/Ins/Loc


Acc


Plural:

Nom


Gen/Abla


Dat/Ins/Loc


Acc


Block diagram the above text according to the guidelines (25 answers):
(1)
toi'" ________ oj Pau'lo" ei\pen... tou;" ________ peri; ______________.



                                 ejk _________________  

(2)
au&th hj ________neva ________


                                        ________ aujtouv", 



     kai; 



                           ________
(3)
____ oiJ a[nqrwpoi _____________ aujthnv. 



                                            au[rion 

 

                                            ________
(4)
oJ dou'lo" ____ tou' ________...proevqhke ________ to; eujaggevlion. 



     kai; 

(5)
ejphvkousan tou' ______________


     d j 

(6)
ejpivsteusan aujtoi; ____tw/' kurivw/, 



     ga;r




          ________
(7)
oJ _________...hjlhvqeue 



                  ajpo; ________, 



     ____
(8)
ou|to" ________ a[ggelo" h\n 



     kai; 

(9)
hJ didach; ________ oujk _______ ________. 
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